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2017/November New Exam: VMware 2V 0-622D Dumps with PDF and V CE Free Updated Today! Following are some new
2V0-622D Questions:1.[2017 New 2V 0-622D Exam Dumps (PDF & VCE) 140Q& As Download:
https://www.braindump2go.com/2v0-622d.html2.]2017 New 2V0-622D Exam Questions & Answers Download:
https://drive.google.com/drive/folders/OB 75b5x Y Lj SSNRG5abEhWM mIwN2M 2usp=sharingQUESTION 66An administrator
cannot enable multi-processor Fault Tolerance (SMP-FT) for avirtual machine.Which are two possible causes for this? (Choose
two.)A. Thevirtual machineisrunning on avSAN datastore.B. The Fault Tolerance network isusing a 10Ghit uplink.C. The
virtual machine has 6 vCPUs assigned.D. Thevirtual machinehasa1TB VMDK attached.E. The virtual machine has snapshots
present. Answer: CEExplanation:http://www.cloudfix.nl/2015/02/02/vsphere-6-multi-processor-fault-tol erance-smp-ft/QUESTION
67What two I T infrastructure components are virtualized by vSphere Essentials? (Choose two.)A. NetworksB. ApplicationsC.
StorageD. ManagementAnswer: ACQUESTION 68Which minor badge items make up the Efficiency badge score for an ESXi
host in vCenter Operations Manager?A. Workload, Anomalies, FaultsB. Workload, Stress, DensityC.  Time Remaining,
Capacity RemainingD. Reclaimable Waste, DensityAnswer: DQUESTION 69An administrator has a virtual machine (VM) that
uses a shared USB device.Which option will allow the VM to utilize vMotion while retaining the maximum possible
functionality?A. Disable the USB device fromthe VM.B. Configure the VM to support vMotion while the device is connected.
C. Enable migration support for the individual USB device.D. Remove the device from the VM.Answer: BQUESTION 70An
administrator is configuring an identity source for Single Sign-On.The administrator will use the machine that Single Sign-Oniis
running on, but does not want all users on the machine to be visibile to SSO.Which Identity Source meets this requirement?A.
Active Directory (Integrated Windows Authentication)B.  Active Directory asan LDAP ServiceC. OpenLDAPD.
LocalOSAnswer: AQUESTION 71Which two conditions would prevent an administrator from upgrading an existing vCenter
Appliance to vSphere 6.x? (Choose two.)A.  The appliance has been configured to use an external Single Sign-On server.B. The
administrator did not export the appliance configuration.C. The administrator is using an appliance with an embedded Platform
Services Controller.D. The ESXi Host that the appliance will run on has not been placed into Maintenance Mode.Answer:
ABQUESTION 72An administrator has configured a cluster with the Host Failures Cluster Tolerates admission control policy, as
shown in the Exhibit: Based on the exhibit, which two statements are true? (Choose two.)A.  The number of slots per cluster node
isfour.B. The cluster can sustain loss of only one node.C. The number of slots per cluster nodeisthree.D. The cluster can
sustain the loss of two nodes.Answer: BCQUESTION 73An administrator is creating a new Platform Service Controller Password
Policy with the following requirements:- Minimum length: Minimum of 8 characters.- Restrict use: 6- Character requirements: At
least one upper-case letter, one number, and one specia character.- Identical adjacent characters. OWhen trying to assign the
password "P@3$$wOrd", the administrator receives an error that the password does not meet the Password Policy requirements.
Which part of the Password Policy does this password violate?A.  Minimum lengthB. Restrict useC. Character requirementsD.
Identical adjacent charactersAnswer: DQUESTION 74Which two statements are true regarding upgrading from a Distributed
vCenter Server 5.x to vCenter Server 6.x? (Choosetwo.)A. vCenter Single Sign-on becomes part of the Platform Services
Controller.B. vCenter Inventory Service becomes part of the Platform Services Controller.C. The vCenter Server serviceis not
migrated during the upgrade process.D. The vSphere License Service is migrated to the new vCenter Server 6.x instance. Answer:
ACQUESTION 75Which is required by vCenter Converter Standalone to convert aphysical Red Hat Enterprise Linux 7 machine to
avirtual machine?A. The Linux machine must be powered off.B.  The Linux machine must have the SSH daemon started.C.
The Linux machine must use astatic IP address.D. The Linux machine must have afully-qualified domain name.Answer:
CQUESTION 76An administrator is troubleshooting network communications between a vCenter Server and an ESXi 6.5 host.
Which log shows the related events between these components?A.  /var/log/fdm.logB. /var/log/vpxalogC. /var/log/hostd.logD.

Ivar/log/auth.logAnswer: BExplanation:

https://pubs.vmware.com/vsphere-50/index.jsp?topi c=%2Fcom.vmware.wssdk.pg.doc_50% 2FPG_ChA_Diagnostics.19.3.html
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